Homework #3 (4.18)

1. EMEXRAEERRARA B CD,E), R EN—PREKBEMNT:
F={A—BC, B—CD, A—E, AB—C, AC—»DE, BE—AD }
(1) KH FNRNREERBE (EREEKRBRIE)

(2) KRMVRIER, FFeadiiti
(3) HErRBTHEILER? AHAY

2. WHEXFIRA: R B,CD,EF G, R EMN—PREKFSE:
F={ A-B, B-(, AC-DE, E>F, AB>E, AC-G}
(1) Kt F R/ MR BREE (EXRSHRBIRE)
(2) R RMEIERS, FeaHIEHR
(3) #wr R BTH/LE? AFA?
(4) BRARRR R TMEZF BRIFRBRBIL D BE] SNF, ZRGHREDE,

3. MBEXFEI R(A B, CD,EFG), REM—PREMKESE:
F={AB—E, A-B, B—(C, C-»D}

(1) ZRFEXNHEFRILER? AHA?
(2) BRRFEL R THERE D2 BCNF, ZRGEHIR .



